Question: call/cc is important when escaping. The following needs an escape procedure as soon as it hits element. How will you handle that in cps form?
(define lookup 
  (lambda (wanted? ls) 
   (for-each (lambda (element) 
               (if (wanted? element) 
                   (return element))) 
             ls) 
   #f))

Answer:

(define lookup 
   (lambda (wanted? ls) 
   (call/cc 
     (lambda (return) 
       (for-each (lambda (element) 
                   (if (wanted? element) 
                       (return element))) 
                 ls) 
       #f))))





Question: In class, we have done all sorts of things to prove that continuations are beneficial, do you think there are reasons why continuations aren’t the best?

Answer:
1. Memory leaks – capturing whole continuation where maybe only a prefix is needed prevents objects from being garbage collected when dealt with
2. [bookmark: _GoBack]Performance hit  - Call/cc with escape procedures lets us return several times in just one procedure call. Returning that often leads to slower performance times for large programs.
